= AH O
N = 0 &8 AF S & Al A
20119 = 20a LBSIAH L JIEISEESH E20 ~ S22
2A: S22
S FOXX HEXNE A3
o2l E)|E MNEE2LI &4 (e
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
=X} 22,263,206 22,409,672 N 146,466
= 42,243
D 64,549
Al 320,639
2 21,835,775
FOIRX HHEXR AU 2,236,110 2,599,285 N363, 175
= 1,654
Al 16,341
. 2,218,115
E0|& HEAZHI| =4 1,719,567 1,496,969 222,598
28o6tD EYst QA2 60,834 47,996 12,838
201 et AH| 8,334 8,314 20
01 AFR22|H] 5,870 5,850 20
OQAMNRRG EMLG 70,000 x4 H «153] 4,200
OYE(EE)H 2 A2E 2 1,670
ocUR(ME)HE HOolA 8,000 1504 1,200
oA (ME)E X 1,000 1504 150
oZUtZElH 3 20,0003 8 *2H 320
02 E2222H4| 2,464 2,464 0
OHEZELIA B=SEEHS 16,0002 » 1544 2,464
203 LR F&H| 2,500 2,250 250
03 AMEF=XA2FZXIY| 2,500 2,250 250
OXZR L QIAIZE| A E=ZR 2,500,000 2,500
206 2| 15,000 0 15,000
01 THEHl 15,000 0 15,000
OENELIS L3 ARE(HIIHE 5)
15,000,000 15,000
405 XHaHESHI 35,000 0 35,000
01 ML =2 SFHSHI 35,000 0 35,000
OETELRIAS L2 AMAEH IE(EZD1I] S)
35,000,000& 35,000
TE2H L oM 189,554 166,432 23,122
201 Lt AH| 142,654 128,982 13,672
01 AF222|H] 140,014 126,342 13,672
OFFEBILEE(FQYR2AN
20,0002 *500H 10,000
OFRFEEIES e AT
1,000 *1,00004 1,000
O8x4A29 xerAd| 1,300,000 1,300
OF Al Y J|E2Y a0 H&
100,000 * 109K 1,000
OO0, &R OIAIZE HAA 2,000,000 2,000




SN B2
Mo FOINK BHAY oA
cel BOIE NEEQI XY (e @e
SN EB -GS - MBAY - BES 0 & 24 e HRE2
028 E=20l 7 5,000% *1,0000H 5,000
OJZ2E E=20| =0l 1A 5,000 %2007H 1,000
ORYEAM 7Y 800,000 800
oug R=g 2,340
oRHIA 90,0002 * 122 1,080
oRAFYE A 60,0002 * 122 720
cHZNARIA 45,0002 12 540
O 229 150,000 +7% 1,050
OYR+ (YL - 1) 100,840,00024 100,840
Og=Aa 42879 1,000,0002 1,000
SETRSES-T =1 12,684
SHIN A 7,008 %232 * 12 12 1,932
oXSHIN, 153
7,000 %241 x2321 2% # 122 7,728
o205 %t 7,000 +2A1 %18 * 12+ 122 3,024
02 Z2Z2YH| 2,640 2,640 0
OROIF X ZHI Al AES 20,0002 122 2,640
203 R EAY| 41,000 36,900 4,100
03 AR @EA| 41,000 36,900 4,100
OXN2Y 243 15,000, 0002 15,000
O2AAAS =0l 243 20,000,000% 20,000
OBFNAR £ AME 4,000,000 4,000
Oz 29 2,000,0002 2,000
401 AISHIL L] 1,200 0 1,200
01 Al 1,200 0 1,200
OYRY AN (HX, FBDAS)
1,200,000 1,200
405 XtarF S| 4,700 550 4,150
01 Xtard 223 S| 4,700 550 4,150
OWLe )| DA (SRHFA) 3,000,000 10H 3,000
OZRIEII(IIAAY) 3000002 *1CH 300
OY™A P (RH) 700,0002 +2H 1,400
2¥ 2D Jla = 139,000 149,600 210,600
201 Y2 ] 34,000 29,600 4,400
01 AtRT2lt] 34,000 29,600 4,400
ONZIS AHBAE 300,000 *43| 1,200
OMABSHE 2 10,000, 0002 10,000
Oos eS| 2,000, 0002 *10% 20,000
OYESAUED DS
350,000% x25t | +42 2,800
202 01t 55,000 60,000 £5,000




SH: B2
B =N BN AU
el 2o MEERI Xd (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
01 =LHOHI 55,000 60,000 /5,000
O3R% ALRUSF 0yl 55,000,000 55,000
308 NXISHHMSOIH 50,000 60,000 210,000
05 MHAHM2AELS 50,000 60,000 210,000
OZ2fd u=s FE= 50,000,000& 50,000
ANE SXNSE & ADIYH 1,290,981 1,062,743 228,238
201 2Bt 807,925 3,675 804,250
01 AtR2teld] 804,925 3,675 801,250
OFBANY RS3FE o4 M
16,5002 *500H4 825
OEASRA I8 200,000& »5& 1,000
O%&Ed sNME 1,200,000& *1.051+559HF 705,011
OXEEHEXNME (EHU=T}) 250,000 =10 2,500
OHHMEE 171,000 »559& 95,589
02 E5=2gH| 3,000 0 3,000
Ox=sEteEd edia & ==clbl
150,000& »20CH 3,000
204 M2 AH 195,720 0 195,720
03 SEYLEHI 195,720 0 195,720
o gsH (»=2%) 50,0003 236 *12& 141,600
OEUNI=g=g= 80,000& x5 »12& 4,800
ONSEESRE 100,000& «32&E x 128 38,400
ouazggssa 150,000& »5E x12& 9,000
OWE, sgged3:d 100,000& »1E 123 1,200
OSRIFHNEHE SRR 60,0003 «1& 122 720
303 Zal= 81,500 851,471 AT69,971
01 Z&a= 81,500 851,471 AT69,971
OFEANY RSIERE MY 50,0003 x50 2,500
OEANSRA B8 2,000,000& *x5& 10,000
OXZEXNH B¢ 50,0002 *90H x12& 54,000
OHlndd =stAg A 200,000& 75 15,000
307 2120l A 205,836 202,797 3,039
05 QI2tRIE =S 133,786 202,797 269,011
OSRNH =m0l Es = 133,786,000 133,786
07 d=Xls=3 72,050 0 72,050
ONdi2s RFE= 16,703,895,000& *0. 132% 22,050
OAE xRS 50,000,000 50,000
8 NEXE =i 39,198 70,198 231,000
201 LEt=EH| 39,198 39,198 0
01 Ab=2telH 3,528 3,528 0
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2 FOINK BINY AT
SRl EIIR NEEI| X4
_ _ pSNE e
M- E - S(3) - HRAY - BY2 O &+ o4 Sl aton
OS2~ 28 2|
7,0002x2%x212 x 122 3,528
02 ZZ2Y| 35,670 35,670
OXFS Al 2,361
o5 Xt 520, 00024 *4CH 2,080
oL It 65,0002 *3CH 195
ot 28,5004 #3CH 86
ONEXBEE 2,305
ozgx 120, 00024 *4CH 480
oS It 280,000 *3CH 840
o2t 335,000 *3CH 1,005
ORSX SINLRLZ 70,0002 604 =23 840
OREXS Y 30, 144
ozEX 3,661,000 *4CH 14,644
oLt 2,833,33024 +3CH 8,500
o2t 2,333,3302! *3CH 7,000
NA=X S 2208 D4 155,214 50,354
JIRKZ R 2| 152,614 47,254
101 Q11| 152,614 47,254
04 JAR2ENS S 152,614 47,254
OBMEIL - SOIRE HHOI 92,435
oEMED 49,4302+ 108 +752 37,073
S EES 49,4309 %72 1602 55,362
SELIEET=E 524,289, 00021 *4. 5% 23,594
ORVIAYBELLZ  524,289,0002%2.665% 13,973
ORI QUSBHLLS 13,973,000 6.55% 916
OongRE=Y3 524,289,0002! %1.3% 6,816
OMTRE =SS 524,289, 00021 +2.838% 14,880
A/t CARH 7E 2,600 3,100
201 Yer2g| 600 1,300
01 AtR22lt] 600 1,300
OSHnE F3 -2A 28
100,0002! +125 63| 600
203 Y= 2,000 1,800
03 AIZZARETY] 2,000 1,800
O ARl 5] 200,000 *103] 2,000
=olster2el x4 50, 130 46,500
=70 3t8 S0rY BA 36,380 36,500
201 Yereg| 21,780 21,700
01 AtR2elt] 280 0




2H: 520
mu: ZONA RINE G2
& =S EERI - (&=l &)
SN HB SR (BIH) - A - B S 0l &b S D=2
O7olo o dE9iAs] Ba%Y
70,0002 *»4H +13] 280
03 @A S| 21,500 21,700 A 200
(OF=3--3 250,000& 45 1,000
OHAEE X (X HE S LAXNS)
5,000, 000& 5,000
OS2 JIRHM AMaS 2,000,000& 2,000
O=2 XXl =&al 1,500,000& x99 = 13,500
301 Et2A = 11,600 11,800 A 200
10 HAIAHIE &= 11,600 11,800 A 200
O3t B¢ 4,000, 000& x2H 8,000
OAMBI Xt B4 400,000& 2 800
OZ3dl=8 24 700,000& 48 2,800
401 Al&HI YL ROHYI 3,000 3,000 0
04 SHAMZ-SH Al & HI 3,000 3,000 0
O U & X 3,000, 000& 14 3,000
TEHEHFC APIIEE 13,750 10,000 3,750
201 B3| 11,250 7,500 3,750
01 AtER22/Hl 11,250 7,500 3,750
OTHANY SBF0 TN X
75,0003 » 1504 11,250
301 YptEaazg 2,500 2,500 0
10 EALAHIEA S 2,500 2,500 0
OAl - FE LY EItAG B4 10,0002 +250H 2,500
FOUNXHE A2t 131,497 122,809 8,688
=2 1,654
Al 5,000
- 124,843
FUSEYR 2el 36,286 25,733 10,553
201 et 26,606 25,733 873
01 Al2 22| o4, 414 23,471 943
OF0USE 22| 7,796
oFESE Sx=2 EAX 26,0003 » 15044 At 3,900
oFRSE S MA 2,800& 7003 1,960
oMAAMIDAM E2tHtelH 5,500 «41 90 = 198
o FEHUUX SHUKXR 22,000& x99 198
oFSE2Y SEY
80,000& »20H *43] 640
oFSE2E MUARE 900
cd 300, 000& * 104 300
- El 200,000 *3H 600
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SN 2D
U FONK WHAE A3
Oe: FONABEY A5

SA BB .S (BH) - MBEAY - B2 0fl Ak 04 gggf; SmE=L

ORL=HMo HE=& H& 17,000 ~60H 102

301 2BEtE A= 3,000 3,000 0

12 JIEt2 A2 3,000 3,000 0
OFROHUHE & 3,000
oz A&t 1,500,000 x1H 1,500
o 24t 1,000,000& *x1H 1,000
o4& 500,000& *1H 500

303 LAZ 3,000 3,000 0

01 Za3 3,000 3,000 0
O3RAANMHE &9 3,000
oz &t 1,500,000& *1H 1,500
o 24t 1,000,000& *x1H 1,000
oz 4 500,000& *x1H 500

QM H=sS LHAF K& 1,654 1,946 N 292
= 1,654

201 LBt29H| 1,654 1,946 AN 292
= 1,654

01 AIR22|H] 1,654 1,946 AN 292
O2HZMsd XN& & 2SHl 1,260,000 1,260
= 1,260
O2HZHsE XNd 8% =24 394,000 394
2 394

ZFOIXIXIE 22| 10,000 10,000 0
Al 5,000
- 5,000

201 dEt2dd| 7,000 7,000 0
Al 2,750
- 4,250

01 AIR22|H] 7,000 7,000 0
OF0XXE S| 1,000,000& 1,000
Al 750
- 250
OF0XX3 2288A & 6,000, 000& 6,000
Al 2,000
- 4,000

301 et A= 3,000 3,000 0
Al 2,250
- 750

10 HAIAHIBEAZS 3,000 3,000 0
OF0XX 3 28 H&X AE 3,000,000 3,000
Al 2,250
- 750

AstAs A00A G2 2 3,690 3,570 120
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_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot Hws2
201 Yer2oy| 490 570 £80
01 At el 490 570 £80
OXtZAR TRI& AARIRS &S &g
70,0008 72«13 490
301 LerE Az 3,200 3,000 200
12 JIEH2 A3 3,200 3,000 200
OXtzgA@ TRIA ATH RKIZH 800,008 4} 3,200
IHIUEHK 29 500 500 0
201 Yer2 eyl 500 500 0
01 At el 500 500 0
OFHZLIH ASE 4014 820 MR
80,0002 104 80
OMEZE SN 5002 *5000H 250
OsI=x 17,0002 + 1004 170
ST AIIH 34,740 38,214 13,474
201 Yer2y| 340 374 ~34
01 At 22l 340 374 ~34
OFs=AN M= 17,0002 200 340
301 LptEaa 34,400 37,840 13,440
02 HE3YENS 34,400 37,840 13,440
OSEXH (DS HsZ
430,0002 +20% *43] 34,400
ZoSSCH BAMAH BE 57,797 33,993 18,804
Al 11,341
2 46,456
Zoes 243 35,115 16,535 18,580
201 Yer2y| 5,315 4,735 580
01 At 22l 5,185 4,505 680
OSAN&ZHY 82 2 1,360
cu Ktz 1,0002! ¥30074 300
SEp] 1,0002! x20024 200
SCER 1,0002 +3007H 300
CE=l 1,0002 +2007H 200
opIEY 1,8002 +200%5 360
O=p2s8E 7Y 1,800
csz2 10,0002+ 105 1,000
< 01 JH [l 4,000 * 10004 400
B4t 100, 000! *404 400
O=RPSSEX TEE 4 300,0008 204 600
OSMOIZ2D SN0 Z202 |
200,000 200
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fAM: SR
Mo FOINK AN Az
ol BMIFSEL BAXA (el a2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
OgdsE4 U L 13,0002 *10& 130
OEESH 2 d2ME 2 25,0002 «5H 125
OSHIERFA Sl 7,000 x38 x35 735
OAMESEZAIEEH REHI 1,000,000& * 14! 1,000
02 2223H| 103,074 104,106 AN 1,032
Ogerdste3a 53,640
o UM S} 38,000 *115CHx 123 52,440
oAZAAHIA 100,000& = 12& 1,200
OHNEIE(T/D)AEE 23,0003 233 & +12& 6,348
OgAe dazg L A== 300
ooz 28,0003 x5CH 140
oANEZ 16,000 *5CH 22 160
O&dIHIY AIEZ 200,000& = 12& 2,400
SHAES AIE= 50,0003 +x9CH=12& 5,400
OCATV==Al 2 13,000 +32CH x 12& 4,992
OMS(EUHEZIAIES 350,000& x12& 4,200
OMol, et HaAL AAEZ
40,0003 20 =12& 960
ORMFBINEEZ 2HHI(SH)
12,150, 0003 *50% 6,075
ogd CCTV ArE = 1,620
S Rak=, 32,0003 43| & +12& 1,536
oNJlzg 3,500 23| & *12& 84
O& X wetI| 22yl 147,335,320 *3% 4,421
OSMEAx JIEFEX 2l
16,865,000 *3% 506
OH3SHI| 22yl 1,825
o ABHA 1| (446CH) 12,265,500 3% 368
oI ZEXSI|(121CH) 28,386, 9633 *3% 852
oCIXIZX 3| (57CH) 17,060,898& *3% 512
o0l S &3 (9CH) 3,089,700 *3% 93
SAIEESD] 22l 856
o2& (290H) 27,527,490 *3% 826
o HA (1) 980,430& *3% 30
OLH=sED! &2yl 37,518,000& *3% 1,126
OU=sEH(d=32L ) 22/l
28,680,000 *3% 861
OYSAIE 2eldl 2,981
o HHYS(34) 51,206,000& *3% 1,537
oS ALE (60H) 13,445,600 *3% 404
oc=sEEZZ(9H) 34,656,540 *3% 1,040
O« FH| 22yl 225
o NFE(2MH) 1,740,000 *3% 53
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SN SR
M F=OIXK BEAY A2
Ol ARHUEA BAXN CERE)
S BB SR (B ) - MRAY - BAS Ofl At o d 5 HR=2
oxtzE(204) 1,364,000 *3% 41
osHE(100H) 4 .356,000& *3% 131
O HEMAYl 22yl 8,668,000 3% 261
OENEHZE S 22| H| 2,500,000 x 14! 2,500
OSMSE S A AE 22| d] 9,208,210 *x3% 277
OB EASAI AHES S AEH| 22l ]
26,820,000 3% 805
ONSIES sFHAAE 22|
16,500, 000 *3% 495
T HESEAMAE B 15,000 2,000 13,000
401 AlEHIZLE0HY] 12,000 0 12,000
01 Al&H| 12,000 0 12,000
O & CCTV EXI ZAF  12,000,000& x 14! 12,000
405 XHAFF SHI 3,000 2,000 1,000
01 XA 2 EF S| 3,000 2,000 1,000
OYATTEANE JSHI| 2 40,000 x50CH 2,000
OBAMESI 2L 500, 000& =2CH 1,000
ME R 4 378,143 349,207 28,936
J| 64,549
Al 55,563
N - 258,031
MEHER 243 378,143 349,207 28,936
J| 64,549
Al 55,563
- 258,031
NEAR2S £H33)I8 29 81,738 79,301 2,437
301 Lt A= 81,738 79,301 2,437
11 =t - 2SESEA2 81,738 79,301 2,437
O£x=g9HIE 24 81,738
o23(738 98 2)
1,545,2003 2B %128 x1.051 38,977
o DA X & H| 38,977,000 %16.7% 6,510
olZH 38,977,000 x1/12%25% 813
ocHAEZIIHH| 38,977,000& x1/12%x120% 3,898
oZEsH 100,000 x 128 x2H 2,400
o 22| 130,000 x 128 x2H 3,120
o EH| 130,000 x 128 2 H 3,120
oS5 =(]| 100,000 x 12& 2 H 2,400
o =gt 1,000,000 *13| *x2H 2,000
S S 2,600,000& x2H 5,200
olM=203 =MOH| 600,000 x53| x2H 6,000
oll=H| (A2, 2D 42 s=S)
1,600,000 »2H 3,200
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2H: E2D
Ha: MBS S4
el MEHS B3 (el:@g
_ _ _ Muo
- HHM 2 (S) - HEAMY - BES e Ofl At ot HwsZ
N EERIEEE] 100, 0002 *23] x22 400
SRS 014 A&HAD
250,0002 *53| 283 2,500
oM% 9B B 300, 0002 *23] x22 1,200
SAE 21,22 3,900 11,600 2,300
A2 bl 3,900 3,600 300
2229l 3,900 3,600 300
omJIQa 300,0008 *122 3,600
OMSANES YZSWA MUl 300,0009! 300
T 10,000 8,000 2,000
Al 0,000 8,000 2,000
OSUIHSAA Hl 10,000,00024 10,000
Ab EOIRI R 16,540 16,540 0
012+0| A 16,540 16,540 0
EIEINES 16,540 16,540 0
OANZH NEES L2 BIIX2
1,570,0002 1,570
OAZH HOIESCHE BIIXIE  1,670,0008 1,670
OAQIME HSOHs &b XY 13,300,0008 13,300
MEHS X2 41,100 40,260 840
A2 Y| 100 260 A 160
01 AtRZelt] 100 260 A 160
OMEBHSIIZ ARICH 10,0008 %102 100
SRS 10,000 9,000 1,000
NEER ARSI 10,000 9,000 1,000
OMEH S 25 10,000, 0002 10,000
012H0| | 31,000 31,000 0
IR PN S 31,000 31,000 0
OZPEEH £50 MUKW (7TE2)
14,000,00024 4,000
OZ7HIN HOHQ BISTHE 5,000,000 5,000
OZTHEISE SN (MR2T)
12,000,0002 12,000
Snaey 28,734 28,734 0
Al 10,700
2 8,034
012+0| A 28,734 28,734 0
Al 10,700
2 18,034
R 28,734 28,734 0
OMEHSRA 2% 18,334,00024 8,334
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SN

23
M MBS S4
Sol: MBS 248 (&
_ _ _ Muo
SN T BR(BH) - NRAY - BLS 0fl o e HRE2
Al 5,500
3 12,834
OO Z0IH SR 3,600,0008! 3,600
Al 1,800
= 1,800
OFAGHBEDA 3,200,0008! 3,200
Al 1,600
- 1,600
OF+HS U 3,600,000 3,600
Al 1,800
7 1,800
T2 MBS N 40,000 28,000 12,000
Al 20,000
3 20,000
307 21210/ H 40,000 28,000 12,000
Al 20,000
= 20,000
02 BIZHHABE 40,000 28,000 12,000
O7z MEHSS X 40,000,0002 40,000
Al 20,000
= 20,000
MEHSXER 62,784 62,784 0
p 31,392
= 31,392
307 212H0|H 62,784 62,784 0
p 31,392
= 31,392
05 BI2teIEa 62,784 62,784 0
OME RS X B 62,784,000 62,784
| 31,392
- 31,392
24 HEES N 20,928 20,928 0
p 10,464
7 10,464
307 21240/ H 20,928 20,928 0
p 10,464
= 10,464
05 BI2teIEa 20,928 20,928 0
ONZAMSKEX b 20,928,000 20,928
p 10,464
- 10,464
MU H Al AL 32,419 21,060 11,359
p 22,693
Al 4,863
= 4,863
307 RI2H0|H 32,419 21,060 11,359
ol 22,693




SN BRI
Hu: MBS S4
Sl MBS 243 el AR
_ _ _ Muo
SN EB -GS - MBAY - BES arey i =
A 4,663
2 4,863
05 QI2t9IErz 32,419 21,060 1,359
OAZEHIRH AL 32,419,0002! 32,419
| 22,693
Al 4,863
2 4,863
NOIZISHE MEHSAE 2 40,000 40,000 0
Al 20,000
2 20,000
401 Al&HIL 20| 40,000 40,000 0
Al 20,000
2 20,000
01 Al&H] 40,000 40,000 0
OANQZBIE METSAL &% 40,000,0002 40,000
Al 20,000
2 20,000
20l olFE ME BH 145,462 168,987 £23,525
= 1,639
Al 7,653
2 136,170
DIgel o gt 135,462 163,987 28,525
= 1,639
Al 7,653
2 126,170
HAUs DI DS 28 AAl 1,100 7,100 6,000
201 LByl 600 600 0
01 Attt 600 600 0
OYYUL LY ASE |
50,0008 * 122 600
405 THAHE SHI 500 1,000 A500
01 KA SEFH S| 500 1,000 A500
OZetTaIEI| 7Y 500,0002 *1CH 500
DI DEEY AALY 8,290 1,800 A3,510
Al 4,140
2 4,150
301 LBBA 8,290 1,800 A3,510
Al 4,140
2 4,150
12 JIEEA3 8,290 11,800 A3,510
OLILSADIEY BAS 8,290,00024 8,290
Al 4,140
2 4,150
2VIF0 QLI L ERAMA 1,427 1,427 0
= 428
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SN B2
MH: 0o OIME ME BE
el Qi oz 23 chol MR
SN I SRI(S) - NRAY - B sk S 2
0f 4 o8
405 XtobE SHI 4,500 4,500 0
01 XYL S SFSHI 4,500 4,500 0
OshAg &Yl WH(YSH 2 5F)
4,500,000& 4,500
AR 2l 78,387 90,347 211,960
201 Let2d| 264 198 66
01 AtE22(Hl 264 198 66
OE8 ZA2R223 &% HZE 16,5002 « 1604 264
301 LptEaazg 78,123 90, 149 212,026
09 BAIZLRRIBLAS 78,123 90, 149 A 12,026
O3UZFRA B&3 68,466
2= 88,000 x 19« 123 20,064
o Z Al 5,000 x24H +22 x 123 31,680
o SHl 2,600 x19H «22 x 12 13,042
oIl=stl(dt- 85, 8H, HE, X, %)
230,000& «16H 3,680
OZU2LLR 2UDS YA2L
100, 000& 43| 400
OZ3AZRRE AIIEZE 30,000 67 2,010
O3UZRRA 24 XZ 4l 1,000,000& 1,000
OZUZFRE MolEa=z 4,237
o AtY 1,097, 730& »36HH «67H *0.05% 1,324
o & 0K 1,097, 7303 » 12U »67H »0. 33% 2,913
OZU2RRA Mol 2= 30,000& 67 2,010
HI&HHI =& 20,565 20,250 315
201 LBt 3| 20,565 20,250 315
01 AtS 22l 20,565 20,250 315
OsRgdAHAN HH 5,775
o &A1 = 35,0003 255 875
o QIS H & 35,0003 »215% 735
ocSXASHE 35,0003 295 1,015
o UHHESRA= 35,0003 *30F*3& 3,150
OSXos 2Y8S 1,690
CHEHER U SALYS
4003 20001 2& 160
oatst 150, 000& 44 600
o Bt 100, 0002 24 200
o 2ket 40,0002 =34 120
SE=NE=IN 20,0003 »5&¢ &t 100
oZglH EU 200, 000& 204 400
oS AMI| EH 110, 0002 =104 110
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SN B2
Hm: olo| oiFE ME 2
CHol: DIgrel oizF st (B9 &2
_ _ _ Muo
SA BB H(BH) - MBAY - B2 Ofl & o il i~ o HRs2
OSXeis Sl 7,000 #2410 x 150 *42 8,400
OSTes FHYRE 200
omal 30,0002 * 104 *42 120
o= AP 20,0002 *1CH *4L 80
OHIAUHIEY 2HEBE 4,500
SN 100,0002 *30H 300
BT U 40 00,0002 *37H 300
o9 2tE 40,0002 *34 120
oHIATHHIZ S
7,0002 x2A! %452 x22 535 3,780
ol my| 2 1,000 6,800 5,800
Al 500
2 500
405 XtarE S| 1,000 6,800 5,800
Al 500
2 500
01 XU SEF S| 1,000 6,800 A5,800
Ooplgel FHyl P 1,000,000 1,000
Al 500
2 500
OIFEE TPl ME BHES IS X 10,000 5,000 5,000
b2 SAX 10,000 5,000 5,000
403 XHXI SIS K20/ 10,000 5,000 5,000
03 HHI2REXARZRE 10,000 5,000 5,000
OMHI2 =0 X2 10,000, 0002 10,000
HHSAAY (2 19,503,491 18,473,193 1,030,298
= 38,950
Al 241,082
2 19,223,459
oz 2 gyl 19,201,383 18,342,436 858,947
= 38,950
Al 241,082
2 18,921,351
229 o2y 2 2 18,394,058 17,455,869 938, 189
= 38,950
Al 241,082
2 18,114,006
101 o121 14,715,068 12,817,847 1,897,221
=2 38,950
Al 241,082
2 14,435,036
01 24 14,715,068 12,817,847 1,897,221
o=3 8,600,075




SN ELD
Hu: #ESHAL(Z2D)
chel: o2t oyl
S HE - S(EH) - NRAY - BES 01l &k o S
0f 4 o
cNHZH A=I(PEHY)
72,187 ,000& *80% 57,750
o= HAE3(42,5%)
332,200, 000& *80% 265,760
csS=s 8,276,565
=) 2,940,600 x31F «12& «1.051%80% 919,754
62 2,457,200 x77B 123 +1.051%80% 1,908,997
- 72(139Y) 2,790,372
-t 3,137,925,000& *80% 2,510,340
-AEEX " SRR 241,081,800& 241,082
Al 241,082
-IS2H S8 224 23,350,000& 23,350
= 23,350
-aEgdg 22 15,600,000& 15,600
= 15,600
- 832 1,385,900& x99H « 122 +1.051+80% 1,384,335
=) 1,028,900& 16« 122 +1.051%80% 166, 100
- Jls6s
2,534,500 x3H x 122 x1.051%80% 76,717
lsra
2,194, 7003 x 168 123 +1.051+80% 354,299
lls8s
1,821,700 x29F «12& +1.051%80% 533,027
JIs9=
1,465,200 x99 12 x1.051%80% 133,050
- Jls102 982,500 x1H 128 x1.051%80% 9,914
Oodz=¢ 10,275,696,000 *1/12%80% 685,047
OAlzte22+2(2EE) 747,295
obg 9,796 x14H+27 Al 2t+12& x1.051 46,701
SLI= 8,312 x50 27 Al 2t 12& x1.051 166,996
o7g 7,457 x108F 27 Al 2tx12& *1.051 274,244
=88 6,682 x95H 27 Al 2t x 12 x1.051 216,162
=98 5,993& x12H »27 Al 2+ 12& *1.051 24,490
=J|s102 54223 +1Z+27 Al 2t+12& *1.051 1,847
coEsua =
6,682 x4 *50A| 2 * 123 1,051 16,855
(OF<ELECS) 1,417,962
ot EE 310,811
- B2 Xt 40,0003 x426F +0. 78+ 12& 159,495
22 - 1Y 20,0003 x426%H 1,48+ 123 151,316
oltHEHIBEY 136,013
nESsh 433,880& 426 0. 16%43| 118,294
Sl 51,9903 426 H +0. 2%4 3] 17,719
oF0IFH+Y 1,000,000& *10E «12& 120,000
odI2FEI=E 428,160
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SN B2
=3 HESAAL(ERD)
ool QE 2| (9 E2
A BB O(B) - NEAY - BAS Of o e Hl R =2
- 2501 & 130,000& *100H x 123 156,000
- 204901 & 110,000& *71Z 123 93,720
- 15 0] & 80,0003 x109F «12& 104,640
- 104801 & 60,0003 x55F x 12& 39,600
-5E0| & 50,0003 x57E 12 34,200
ofE2Rg 23,880
=S 50,0002 15 «12& 9,000
=& 40,0003 +x318+12& 14,880
oD 50,0002 * 1224 » 122 7,200
SEEET P
10,275,696,000& *4.8%+*2/5 197,294
oJl=8E=s4 31,920
- 5504 50,0003 x5 x12& 3,000
6=~7= 30,0003 55« 12& 19,800
- 82 0|6t 20,0002 »38H 12 9,120
cl|l=8EYotaa 23,400
< Il = A 50,0003 18 +12& 600
- JIAb 30,0003 42 =12 15,120
CAHADIAN 2 X2 R
20,0003 »29H « 12 6,960
N2 10,0002 x6F =12 720
cflRAARSYH 30,0003 42« 12& 15,120
oZtelig 100,000 x4 F 122 4,800
o MAARLE 4,800
304 50,0003 x8H +12& 4,800
oo A=Y 6,960
=1 80,0003 x2H +12& 1,920
6= 60,0003 x2F x12& 1,440
- 72015t 50,0003 x6E x12& 3,600
coZARSAY 30,204
CoRNE (M) 909,000& x1H «12& 10,908
C oA (Ytol) 818,000 x1H «12& 9,816
CARAH 70,0003 x1E+12& 840
R g=ES = 50,0003 x7E*12& 4,200
SIE=PIPN; 50,0003 x6H x12& 3,600
=9l Al 70,0003 1~ 12& 840
o= 70,0002 65 12 54,600
SUNSCIE=UN R B =y 30,0003 42 « 12 15,120
oA EXNSTRY Itz
30,0002 x18H «12& 6,480
cgRUd+¢ 50,0003 x2F +12& 1,200
OgH - ZINEXHY 150,000, 000& 150,000
OFHZAH(P=S) 130,000 *301E x12& 469,560
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SN SR
I #N2AAY (ST
el IE2 3] (etel: =3
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
QuEsEZHI(FESH) 450,240
obg 140,000& *16H » 122 26,880
cbE~Ta 130,000 x156F «12& 243,360
=8=0lot 120,000 «82H « 128 118,080
=Jdlsiae~78 130,000& «12H 128 18,720
=J|588~102 120,000& «30E »12& 43,200
OZEFIHHl  10,275,696,0002 *1/12%120%*80% 822,056
OJHAXI 28I 10,275,696,000& * 16 .. 7%*80% 1,372,833
204 A=A 512,640 766,080 A 253,440
02 M2 512,640 524,760 212,120
OXZEXHI(F2EH) 512,640
ofd¥E 500,000& x1H~12& 6,000
o RAXHE 450,0003 x1E«12& 5,400
ods 400,0003 x4 H 123 19,200
obg 250,000& 16 123 48,000
S= 155,000& 60 x 123 111,600
o7s 140,000& <108 12 181,440
°8=~932 105,000« 111~ 123 139,860
=102 95,0003 x1H«12& 1,140
303 Z&3 1,083,784 1,103,165 A 19,381
02 d&0= 1,083,784 1,103,165 A 19,381
(OF=In) g0 =) 1,083,784,000& 1,083,784
304 HA=RE=3S 2,082,566 2,689, 108 A606,542
01 H=SRES 1,510,394 2,173,787 A663,393
OFSE= == 16,703,895,000& *6. 7%*80% 895,329
(O)-Fob= 16,703,895,000& *2 . 327%*80% 310,960
Of&=g RE=
16,703,895,000& *2.2757%*80% 304,105
02 AL EE= 572,172 515,321 56,851
O=0A2Es RE=
20,150,013,000& *2.665% 536,998
OLeEIRALE RE=
536,998,000 *6.55% 35,174
FRZE E2Ed| 294,367 269,262 25,105
101 Q14| 294,367 269,262 25,105
02 JIEtAE = 294,367 269,262 25,105
OHR2EE 294,367
SE== 1,948, 1003 *6H 12 x1.051 147,417
odIZxE 147,417 ,000& *1/12 12,285
ox2RY 27,796
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SN B2
B WA (22D)
ool QE 2| (9 E2
A BB O(B) - NEAY - BAS Of o e Hl R =2
NEEEEEE
6,863 x6H x40A| 2hx12& *1.051 20,774
EIEERSS
2,288 x8Al 2t + 12 x3652 x1.051 7,022
oI ERE 3,840
- B Xt 40,0003 x4ZH «12& 1,920
22 - 1Y 20,0003 x8H «12& 1,920
ocXtHSHIE XY 4,304
nSsh 433,8803 x2H x4 3] 3,472
Elgs 51,9903 »4H x4 3| 832
o™ 7,920
20401 & 110,000 6 E 122 7,920
ox¥Y 30,0003 *x1H~12& 360
o ZAEgAH| 130,000 x6H «12& 9,360
cuwEE x| 120,000 x6H =12 8,640
o HEZFIHY| 147,417,000 *1/12%120% 14,742
o JMAIXIA I 147,417,000 *16.7% 24,619
o HIE AMd| 147,417 ,000211/360 4,505
oA ZE X 105,000& x6H «12& 7,560
ofere sl 50,0003 x6H +x12& 3,600
oHIUANHZ 14,000,000& 14,000
cEEHEE 262,938,000& *1.3% 3,419
QI|H% 22X QRS 512,958 501,848 1,110
101 Q14| 512,958 501,848 11,110
03 RIAHA2ZZ2NHE = 512,958 501,848 11,110
OR£4 2RA(PHEEA) 23,148
SPIR= 1,030,080 x1H 123 12,361
oJ|gg 15,720,960 / 122 *60% 787
oA GAH| 110,000 x1H =12 1,320
o JAIE &I 30,0003 x1E*12& 360
SRS N 140,000 x1E + 12 1,680
cHAEFIH| 15,720,960& /12& *120% 1,573
oAt 2R+
1,360,080& *1/226+150%*200 Al 2+ 1,806
cHXRERII=TY
1,360,080 *1/226+8A| 2tx 16 771
o 21 S At 50,0002 x1H«12& 600
oXU2R ZEHI 7,000&+1.54 %152 *12& 1,890
OR£4 2RJA(BRHFEY) 23,912
SPIR= 1,093,380 x1H 123 13,121
oJ|gdg 16,480,560& /122 x60% 825
oA GAH| 110,000 *1Z 123 1,320
o JIAIE &I 30,0003 x1E*12& 360
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SN B2
=3 HESAAL(ERD)
ool QE 2| (9 E2
A BB O(B) - NEAY - BAS Of o e Hl R =2
cuws 2L 140,000& x1H «12& 1,680
o= (HRA) 40,0003 1+ 12& 480
cIIE+E(XH) 20,0003 18 +12& 240
o JEHFOHY| 16,480,560 /128 *120% 1,649
SR EEPS
1,423, 380& x1/226%150%*200 Al 2t 1,890
coHXRIHISY
1,423,380 *1/226+8A| 2t x18 907
o HEIS AHHI 50,0003 x1E+12& 600
oEXIU2F = 7,000& x 1A+ 102+ 12 840
OR£4 22 (ZE4) 21,611
=Jl=3 1,002,0203 x1H «12& 12,025
oJl|Yad 15,384,240 / 12 *60% 770
oA A 110,000 x1H « 122 1,320
o JtHIE = | 30,0003 1 +12& 360
o ls2 x| 140,000& x 18+ 12& 1,680
o JEHF Ot 15,384,240 /128 x120% 1,539
oAt 2fsY
1,332,020 x1/226%150%*200 Al 2t 1,769
COUNRBEINSL
1,332,020 x1/226%8A| 2kx 15 708
o HEIS AHHI 50,0003 x18+12& 600
o= NW2RZEHI 7,000& x 1A x 102« 12 840
OIUAZ=RES 3,696,645,000& *4.5% 166,350
O=UHLEERLEZ  3,69,645,0002 *2.665% 98,516
OLeFILQAEHREHES 98,516,000 *6.55% 6,453
ONESERYZ 3,696,645,000& x1.3% 48,057
OMTHEEREZ 3,696,645,000& *2.838% 104,911
O34 Xzl 10,000,000& 10,000
O=dE2AS 10,000,000& 10,000
e 302, 108 130,757 171,351
FAMIIE2ZH 302,108 130,757 171,351
201 L2y 19,503 18,437 1,066
01 AtE222|H] 19,503 18,437 1,066
ORAME2Z JlE2+EHl 279,000& 41 11,439
OJI=2gSf+d 22Hl 7,0003 34 x32H +12& 8,064
202 O4dl 112,320 112,320 0
01 =LA b 112,320 112,320 0
OJl=gd==+8 ol 240,000& *39F x 123 112,320
203 HRF&H| 128,285 0 128,285
01 J|22ZFRF&H| 102,300 0 102,300
O73% 58,300,000& 58,300
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